M4 Exhaust System SU6824

[SU6624]

Item# Description Part#
1 Carbon Muffler Assembly SuU6824
2 Bracket GS-HO416905
3 M8 Flange Nuts FA-HH8N
4 M8 x 45mm Bolt FA-HF845B
5 M8 x 35mm Bolt FA-HF835B
6 M8 Flat Washer FA-8FW
7 Barrel Clamp BC-63

PERFORMANCE EXFUAUST SYSTEWS

M4 Performance Exhaust
2227 Joe Field Road
Dallas, Texas 75229

www.M4exhaust.com
972-481-9300



